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Properties of Equality & Congruence Date Period

Name the property illustrated below.

1. If UV =KL and KL = 6, then UV = 6. 2.0 mL1+ msT=msa+ n}ﬁfthen msl=ms4
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3. ZABC= /ABC 4.1f X msD =45, then m£D = 90.

@eC\EX\'we 2 Mulk P\Cc alian
"Popec Ty Proper Wy
T X O l ‘ U

5. If ZDEF= ZHIK, then ZHIK = /DEF 6.1fy =10, then 2x + 3(12 - x) = 10.
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7. |fxm+3=8 8. If AB=MN and MN = XY, then AB = XY.
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9. If 2(AX) = 2(BY), then AX=BY 10. fmZ1 @ nd mzZ2=ms1+50, thenm/Z2 =90
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Use the given property to complete each statement.

11 Reflexive-Property-of Congruence =

12.-Substitution:Property.

LTRS = <TRS

13. Subtraction Property of Equality

If 25x + 12 =32, then 25x= 2.0
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15. Symmetric Property of Congruence

if £TEs = z8kC, then_ < BKC = < TES

Fill in the reason that justifies each step.

ifAB and AC=AB + BC, then AC= &:{: H(:

14. Transitive Property of Equality

If RM = OP and OP = XT, then RH nan

16. Division Property of Equality

o
If 4AmLABC = 120°, then mZABC= ‘S 0
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Solve the equation and state the reason for each step.

5(2x—-1)=9x+4

Coiven

\ox;ﬁ =9x +Y4
X-B- Y

Diste balive proper
Su\o\'racl\‘ow prope

n “ ‘+5‘.. . KBNS ol o

-

= |



